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Step 1 : Channel 32 tof-le vs tof-tot

0

20

40

60

80

100

120

140

160

180

Step 1 : Channel 33 tof-le vs tof-tot

tof-tot [ns] 
10 15 20 25 30 35 40 45 50 55 60

to
f-

le
 [n

s]
 

5−
4−

3−
2−
1−

0

1

2

3

4

5
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Step 2 : Channel 38 tof-le vs tof-tot
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Step 8 : Channel 16 tof-le vs tof-tot
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Step 8 : Channel 17 tof-le vs tof-tot
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Step 8 : Channel 18 tof-le vs tof-tot
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Step 8 : Channel 18 tof-le vs tof-tot
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Step 8 : Channel 19 tof-le vs tof-tot
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Step 8 : Channel 20 tof-le vs tof-tot
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Step 8 : Channel 20 tof-le vs tof-tot
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Step 8 : Channel 21 tof-le vs tof-tot
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Step 8 : Channel 21 tof-le vs tof-tot
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Step 8 : Channel 22 tof-le vs tof-tot
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Step 8 : Channel 22 tof-le vs tof-tot
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Step 8 : Channel 23 tof-le vs tof-tot
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Step 8 : Channel 23 tof-le vs tof-tot
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Step 8 : Channel 24 tof-le vs tof-tot
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Step 8 : Channel 24 tof-le vs tof-tot
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Step 8 : Channel 25 tof-le vs tof-tot
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Step 8 : Channel 26 tof-le vs tof-tot
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Step 8 : Channel 26 tof-le vs tof-tot
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Step 8 : Channel 27 tof-le vs tof-tot
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Step 8 : Channel 27 tof-le vs tof-tot
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Step 8 : Channel 28 tof-le vs tof-tot
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Step 8 : Channel 28 tof-le vs tof-tot
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Step 8 : Channel 29 tof-le vs tof-tot
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Step 8 : Channel 29 tof-le vs tof-tot
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Step 8 : Channel 30 tof-le vs tof-tot
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Step 8 : Channel 30 tof-le vs tof-tot
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Step 8 : Channel 31 tof-le vs tof-tot
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Step 8 : Channel 31 tof-le vs tof-tot
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Step 8 : Channel 32 tof-le vs tof-tot
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Step 8 : Channel 33 tof-le vs tof-tot
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Step 8 : Channel 33 tof-le vs tof-tot
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Step 8 : Channel 34 tof-le vs tof-tot
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Step 8 : Channel 34 tof-le vs tof-tot
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Step 8 : Channel 35 tof-le vs tof-tot
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Step 8 : Channel 35 tof-le vs tof-tot
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Step 8 : Channel 36 tof-le vs tof-tot
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Step 8 : Channel 36 tof-le vs tof-tot
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Step 8 : Channel 38 tof-le vs tof-tot
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Step 8 : Channel 38 tof-le vs tof-tot
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Detector # 0 Resolution Fit
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Detector # 2 Resolution Fit

 / ndf 2χ  69.11 / 14

p0        0.0006± 0.1583 

 = 0.158321 [ns] σ

/DOF = 4.9365882χ

Detector # 2 Resolution Fit
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Detector # 3 Resolution Fit

 / ndf 2χ  151.4 / 14

p0        0.0004± 0.1443 

 = 0.144306 [ns] σ
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Detector # 3 Resolution Fit
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Detector # 4 Resolution Fit

 / ndf 2χ  112.7 / 14
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 / ndf 2χ  134.9 / 14

p0        0.0005± 0.1621 

 = 0.162131 [ns] σ
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Detector # 5 Resolution Fit
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Detector # 6 Resolution Fit
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 / ndf 2χ  312.4 / 14

p0        0.0004± 0.1355 

 = 0.135516 [ns] σ
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Detector # 7 Resolution Fit
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Detector # 8 Resolution Fit

 / ndf 2χ  109.7 / 14
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Detector # 8 Resolution Fit
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Detector # 9 Resolution Fit
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Detector # 9 Resolution Fit
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Detector # 11 Resolution Fit

 / ndf 2χ  111.9 / 14

p0        0.0004± 0.1355 

 = 0.135527 [ns] σ

/DOF = 7.9926872χ

Detector # 11 Resolution Fit
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Detector # 12 Resolution Fit

 / ndf 2χ  107.3 / 14

p0        0.0004± 0.1382 

 = 0.138219 [ns] σ

/DOF = 7.6632442χ

Detector # 12 Resolution Fit
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Detector # 13 Resolution Fit

 / ndf 2χ  49.51 / 14

p0        0.0004± 0.1549 

 = 0.154942 [ns] σ

/DOF = 3.5366122χ

Detector # 13 Resolution Fit
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Detector # 14 Resolution Fit

 / ndf 2χ  101.8 / 14

p0        0.0005± 0.1705 

 = 0.170516 [ns] σ
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Detector # 14 Resolution Fit
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Detector # 15 Resolution Fit

 / ndf 2χ  185.1 / 14

p0        0.0004± 0.1385 

 = 0.138456 [ns] σ

/DOF = 13.2240872χ

Detector # 15 Resolution Fit
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Detector # 16 Resolution Fit

 / ndf 2χ  116.5 / 14

p0        0.0004± 0.1408 

 = 0.140764 [ns] σ
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Detector # 16 Resolution Fit
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Detector # 17 Resolution Fit

 / ndf 2χ  164.4 / 14

p0        0.000± 0.135 
 = 0.134969 [ns] σ

/DOF = 11.7436002χ

Detector # 17 Resolution Fit



# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

0.5

Detector # 18 Resolution Fit

 / ndf 2χ  154.8 / 14

p0        0.0004± 0.1289 

 = 0.128889 [ns] σ

/DOF = 11.0549452χ

Detector # 18 Resolution Fit
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Detector # 19 Resolution Fit

 / ndf 2χ  293.9 / 16

p0        0.0003± 0.1267 

 = 0.126677 [ns] σ

/DOF = 18.3675862χ

Detector # 19 Resolution Fit
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Detector # 20 Resolution Fit

 / ndf 2χ  297.4 / 16

p0        0.0004± 0.1269 

 = 0.126927 [ns] σ

/DOF = 18.5872062χ

Detector # 20 Resolution Fit
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Detector # 21 Resolution Fit

 / ndf 2χ  226.3 / 16

p0        0.000± 0.123 
 = 0.122988 [ns] σ

/DOF = 14.1436242χ

Detector # 21 Resolution Fit
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Detector # 22 Resolution Fit

 / ndf 2χ    149 / 16

p0        0.0003± 0.1249 

 = 0.124936 [ns] σ

/DOF = 9.3109572χ

Detector # 22 Resolution Fit
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Detector # 23 Resolution Fit

 / ndf 2χ  221.6 / 15

p0        0.0003± 0.1278 

 = 0.127812 [ns] σ

/DOF = 14.7731102χ

Detector # 23 Resolution Fit
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Detector # 24 Resolution Fit

 / ndf 2χ  190.3 / 16

p0        0.0004± 0.1439 

 = 0.143912 [ns] σ

/DOF = 11.8933402χ

Detector # 24 Resolution Fit
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Detector # 25 Resolution Fit

 / ndf 2χ  253.1 / 16

p0        0.0004± 0.1305 

 = 0.130483 [ns] σ

/DOF = 15.8196852χ

Detector # 25 Resolution Fit
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Detector # 26 Resolution Fit

 / ndf 2χ  209.1 / 16

p0        0.0003± 0.1245 

 = 0.124548 [ns] σ

/DOF = 13.0685732χ

Detector # 26 Resolution Fit
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Detector # 27 Resolution Fit

 / ndf 2χ  215.9 / 16

p0        0.0003± 0.1307 

 = 0.130745 [ns] σ

/DOF = 13.4924482χ

Detector # 27 Resolution Fit
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Detector # 28 Resolution Fit

 / ndf 2χ    206 / 16

p0        0.0003± 0.1213 

 = 0.121334 [ns] σ

/DOF = 12.8728742χ

Detector # 28 Resolution Fit
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Detector # 29 Resolution Fit

 / ndf 2χ  98.94 / 16

p0        0.0004± 0.1289 

 = 0.128853 [ns] σ

/DOF = 6.1836152χ

Detector # 29 Resolution Fit
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Detector # 30 Resolution Fit

 / ndf 2χ  119.8 / 16

p0        0.0004± 0.1294 

 = 0.129416 [ns] σ

/DOF = 7.4879992χ

Detector # 30 Resolution Fit

# of Detectors

2 4 6 8 10 12 14 16 18

T
im

e 
[n

s]

0.2−

0.1−

0

0.1

0.2

0.3

0.4

0.5

Detector # 31 Resolution Fit

 / ndf 2χ  54.02 / 16

p0        0.000± 0.142 
 = 0.142040 [ns] σ

/DOF = 3.3764802χ

Detector # 31 Resolution Fit
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Detector # 32 Resolution Fit

 / ndf 2χ  70.81 / 16

p0        0.0005± 0.1524 

 = 0.152398 [ns] σ

/DOF = 4.4258812χ

Detector # 32 Resolution Fit
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Detector # 33 Resolution Fit

 / ndf 2χ   21.3 / 16
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